-}

1,3,5,7,--

a,b,c,d}

52 U o) U A7} 19 2pels)

x| x=

~ o~ o~ o~ —~

(2

(4
(5

Ho
oF

e

ul

A

A+

.

ul

il

-

ul

7HTH 37 8HTh

=
=

(1) {x | x

ol

o

o

ol ol ol

ﬂﬂﬁaﬂa

R
D_IO_HOT@Q
M~
o o] o] o
o| o] o] 4
B o O
AR
DAL
X X N

TR R B
Hw Rw Hu
iy o
< AF <y
TR N W
oo o
A X2
FEF =
SEGECOED

7A A 5 gong

afil]
T
<

7

49

2]

-JellA

ol

6,11,16,21,--

© __0L
Il Bk




2.

HTA=V6+Vi,B=V5+2V2,C= V3+ V109 ta #AS

HR2 A Lehgl 229

@O A<B<C @ A<C<B
@ C<A<B (@)C<B<A

~&B

® B<A<C

A>0,B>0, C>0 °o|B=&

A% = (V6 + V7)2 =13+ 242
B2 = (V5 +2v2)? = 134240
C? =

(V3 + V10)2 = 13+ 230
o|B =2 A2 > B2 > (2 o]t}
o2t A>B>C

A%, B?,C? 9| Hi4E Bt A¥ gt




3.

ARG U 9] = F-2AF A, B ol Hote] n(AUB) = 35, n(ANB°) =
11, n(A°NB) =13 & W, n(An B) 9] k27

@9 @11 3@ 13 @ 15 ® 17

n(AN B)
=n(AUB) —n(AN B°) —n(A°N B)
=35-11-13=11




B x 7t 4.9] W47} ol x = 29] W7k oh ek Ao,
& FolA Wl 2

O x=1 @ x=12 (@)le()
@ x=38 ® x=4

L HFEA]7|H A AE2S UHEA]7]X] &= Ao] Hid| 7| Ho),

== Ty

4] w57k oY ATtk 20 w57} HE 2 e 2




5. HEA k)l <+ bl olH SEH AR Bagrader

O x=y @ xy>0 (@)xyz()

@ x>0,y>0 ® x<0,y<0

B

lx +yl = |x + [yl & FHS AlFste] F2stH
= |yl

(iI)xy=lyl = x20

(i) Exy>0°HAx, y = g2 H3o|BE T4

xy =0 °o|H 557} st

webA xy >0 = xy = |xy

(i), (ii)olAl

xy=|xyl & xy20

h‘




6. x+y=3<d xyof HAGE Ttk (F > 0)
> E.

.9
== o

3=x+y=22+xy
et x=y =0 Lo, oo M




A x,yoll tiste] —+§2=101 JHE o, x+yof HAG2?

ovi @3 QOvE @5 ® 12

B

DA R RS

of ofsiA

}_\_'
@+3{(5) +(5) } 2wy
13> (x4 y)20]22
-Vi3<x+y< Vi3
sox+y9 Mg Vi3




p = q°l7l g FExo|BnE
PcoQ

{a+1, 2)c{3, 5, 3a—4)

webA] 3a—4 =20]B2 g =2




el

Nd

el

ald
_&o

.

ul

QFANER 5=¢q

2l

o|7] 9
OEtA, p=r=s=g¢

1
q~— S




10.

50100 (5n) 10

o] [q] 250 > 510no]£|_§l:_(
n=1, 2
n o) A% 270l e},

250 (25)10 ( 2 10
n




11. AFAT U 9
sht?

D ANB

@)A - B

@®A-B=0




@ 274 @ 474 @87ﬁ @ 1670 ® 3270

~&B

(1, 2, 4, 8}, B 5)

A= ={1,

(A-B)UX = XO]EE( B)cX

(AUB)NX =XO|EZ X Cc (AUB)

{2,4,8cXcil, 2 3, 4,5, 8

AFXE=AUB Y F2AY T 942, 4, 85 WIEA] Z3lst=
E%‘O]E}




